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2.32 A base station cellular communication systems lossless antenna has a maximum gain of
16 dB (above isotropic) at 1,900 MHz. Assuming the input power to the antenna is 8 waltts,
what is the maximum radiated power density (in watts/cm?) at a distance of 100 meters?
This will determine the safe level for human exposure to electromagnetic radiation.

e Modify problem so that the maximum gain is 15 dBi1 and the input power is 10 W.
Also, determine the maximum radiation intensity.

::>/a§rérf Gatfenna :‘m//r'er: Guax = Oae = (SLE

(2"/7) * (2-Y7a
[gée )J ﬂ'a/ =4, :/olA/

lor (2-/@,)) b = 4, = ./

/ J:MBA’/O;Q/’ST
( dicecs i it
> A _ Jow/ 15 /
é/m ax - 7 o/ ”th / 722

fer (2212) U= Wd >ty = 2

§“b ”’"“K I (2"2/) A 7r=/00u to se7”

25./6%¢ _ 2
W - /Z - 2.5/6%6 /(/03 %z ,/_'f'_.-)

/may /00 /oo"(m"'

—

—

-7
Weda = L:51676 X 10 W/ 2

| - 251696 2%

N




